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Clay particles of soil has diameter
(mm)

(1) >0.02mm

(2) >0.002 mm

(3) <0.002 mm

(4) None of these

Criteria of essentiality of nutrients is
given by

(1) Brown 1954

(2) Arnon 1954

(3) Blackman 1905

(4) Mitsherlich 1909

Moisture Deficit Index (MDI) can be
calculated by the formula :

P—PE
@, =% 160

~PE
(2) PPE X 100

PE - P
(3) PE

PE~P

x 100

(4) x 100

A method that controls the shape, size
and direction of plant growth is known
as:

(1) Training
(3) Pinching

(2) Pruning
(4) Thinning

Which one of the following has been
declared as the first organic district of
Rajasthan ?
(1) Banswara
(3) Udaipur

(2) Dungarpur
(4) Sirohi
09



e 2fefire o R R | 6. Pusa Delicious is a variety of

(1) ™ (2) wda ! (1) Mango (2) Papaya

(3) el (4) Eg i (3) Banana ~  (4) Guava
|
i
]
|

gy Which fruit is also known as the ‘Poor

g Wt B T 3reH! w1 aw ot FE

ATy ? man’s Apple’ ?
(1) Hidares (2) 3R (1) Custard Apple (2) Pomegranate
(3) . (4) 3TET ! (3) Datepalm (4) Guava
; ;

. ol o1 HedT Ush §8f THET 2. 8.  Fruit cracking is a major problem in
(1) 3R ) ™ (1) Pomegranate (2) Mango
(3) e (4) T (3) Banana (4) Papaya
fird & 3 % fa s an gu e | 9. The process of growing plants in air or
F Gtefi A1 I Y STEHT SRl HET ST 8 mist environment without the use of
(1) EEeEfE  (2) Siafred soil is called :

(1) Hydroponics (2) Terraponics
(3) Aeroponics (4) None of these

(3) TREREE  (4) $H A A

TR # e wma= 2few ReR @i @ | 100 Which is a common  physiological

(1) I T (2) IFALH (1) Pineapple (2) Pomegranate

37 ; disorder in carrot ?
(1) H&U . (1) Malformation
(2) 9ol S (WITehT) (2) Forking
3) waﬁg - (3) Black heart
(@) e e i (4) Hollow heart
SIS FTEHIAEETEAE dETaH Tag 1 11. Volatile isothiocynates create
FATE - i pungency in :
(1) @&~ (2) 3ETh i (1) Onion (2) Ginger
(3) e 4) it | (3) Garlic (4) Radish
|
Afeen gesTRiaE fhE %o %1 S5 , 12. Grewia subinacqualis is the scientific
qHR ? o | name of which fruit ?
!

(3) Aonla (4) Phalsa
3 o

(3) ATTAT HI (4) HIAHT
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Variety of mango developed by cross
between Neelum and Alphanso is :

(1) Ratna (2) Sindhu

(3) Amrapali (4) Arka Puneet

Which one of the following is the
variety of Muskmelon ?

(1) Durgapura Madhu

(2) Sugar Baby

(3) Pusa Chikani

(4) Pusa Naveen

Indian Institute of Horticultural
Research is located at :
(1) Kanpur (2) Hyderabad

(3) Indore (4) Bengaluru

‘Arka Harit’ is a variety of
(1) Spongegourd (2) Bittergourd

(3) Ridgegourd (4) Muskmelon
Royal gold is a variety of
(1) Rose (2) Marigold

(3) Carnation (4) Chrysanthemum

Which hormones plays an important
role in cold hardiness of horticultural

crops ?
(1) Auxin (2) Gibberellins
(3) ABA (4) Cytokinin

Cross-pollinated crops are :

(1) Muskmelon, Watermelon, Pumpkin,
Cucumber

Spinach, Onion, Garlic, Wheat
Wheat, Barley, Rice, Onion

2
3)

(4) Pea, Groundnut, Gram, Cabbage
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The crossing of ‘F1” progeny with the
homozygous recessive parent is :

(1) Back cross
(2) Dihybrid cross

(3) Reciprocal cross

(4) Test cross

The exchange of genetic material
between non-sister chromatids of

homologous ~ chromosomes  during
meiosis is called
(1) Linkage (2) Mutation

(3) Crossing over (4) Hybridization

The certified seed is associated with a
colour seed tag.

(1) White (2) Yellow

(3) Green (4) Blue

Regeneration of plants from isolated
meristemetic cells is known as :

(1) Organogenesis

(2) Embryogenesis

(3). Micro-Propagation

(4) Gene cloning

Who first time coined the term
Genotype and Phenotype ?

(1) De Vilmorin

(2) Mendel, G.J.

(3) Shull, G.H.

(4) Johannsen, W.L.

International Rice Research Institute is
located at

(2) Peru

(4) New Delhi

(1) Philippines
(3) Italy
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Which  of - the
organelles is normally self-replicating ?

following sets of
(1) Ribosome and vacoule

(2) Nucleus and Ribosomes

(3) Mitochondria and Chloroplast

(4) Golgibody and Mitochondria

Formation of bivalents during
Meiosis-1 occurs at :
(1) Leptotene stage
(2) Diplotene stage
(3) Pachytene stage

(4) Zygotene stage

Blood group antigens of human are an
excellent example of :

(1) Co-dominance

(2) Complete dominance

(3) Over dominance

(4) Gene Interaction

Which of the following does not
promote self-pollination ?

(2) Bisexuality
(3) Chasmogamy (4) Dicliny

(I) Homogamy

‘Combine Kafir 60° is male sterile line
of

(1) Wheat

(3) Pearl millet

(2) Sorghum
(4) Pigeon pea

Which type of mouth parts are found
in the hemipterous insects ?

(1) Piercing and sucking type

(2) Biting and chewing type

(3) Chewing and lapping type

(4) Rasping and sucking type
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Wax glands are found on which
abdominal segments in honeybee ?

(1) On 3™ to 6™ segments

(2) On 2™ to 5" segments

(3) On 4" to 7™ segments

(4) On 5™ to 8" segments

Malpighian tubules are related to :
(1) Respiration  (2) Reproduction
(3) Mutation (4) Excretion

Yellow labelled insecticides represents
the toxicity level : '

(1) Extremely toxic
(2) Highly toxic
(3) Moderately toxic
(4) Slightly toxic

Scientific name of Green Leafhopper
of rice is
(1) Scirpophaga incertulas

(2) Cofana spectra
(3) Recilia dorsalis
(4) Nephotettix nigropinctus

Phenomenon in which the eggs of
insect undergo full  development
without fertilization is known as

(1) Ovoviviparity

(2) Parthenogenesis

(3) Polyembryony

(4) Hermophroditism

Which one is wingless principal order
of insects ?

(1) Protura (2) Orthoptera
(3) Dietyoptera  (4) Isoptera
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N.P.V. is used at which stage of
insects ?

(1) Adult stage

(2) Egg stage

(3) Larva stage

(4) Pupa stage

Double seed in cotton is caused by
(1) Pink bollworm

(2) American fruit bollworm

(3) Red cotton bug

(4) White fly

The destructive stage of coconut
rhinoceros beetle is

(1) Egg (2) Larva

(3) Pupa (4) Adult

Fumigant that depletes the ozone layer
is

(1) Methyl bromide

(2) Aluminium phosphide

(3) Warferin

(4) All of these

The book ‘Fungi and Plant Diseases’
is authored by

(1) G.S.Kulkarni (2) I.F. Dastur
(3) E.J. Butler (4) B.B. Mundkur

Which group of bacteria is gram
positive ?

(1) Clavibacter-Pseudomonas

(2)  Erwinia-Bacillus

(3) Erwinia-Xylella

(4) Clavibacter-Xanthomonas
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The ability of a chemical or pesticide

for holding them on plant surface is :
(1) Compatibility (2) Tenacity
(3) Phytotoxicity (4) Capacity

Division of Nematology was started at
IARI, New Delhi :

(1) 1967 (2) 1968
(3) 1969 (4) 1966

Tomato Mosaic disease is caused by :
(2) Viroid
(4) Bacteria

(1) Phytoplasma
(3) Virus

Little leaf disease of Brinjal is caused
by :
(1) Virus (2) Bacteria

(3) Fungus (4) Phytoplasma

Black sigatoka disease of Banana is
caused by the pathogen :

(1) Mycosphaerella graminicola

(2) Mycosphaerella fijiensis

(3) Alternaria burnsii

(4) Microsphaera alni

 Soybean cyst disease is caused by

nematode :

(1) Meloidogyne iavanicﬁm

(2) Heterodera glycines

(3) Anguina tritici

(4) Tylenchulus semipenitrans
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Name the systemic fungicide which
stimulate defence reactions and the
synthesis of phytoalexins against
oomycetes.

(1)- Vitavax

(2) Nicobifen

(3) Fosetyl-Al

(4) Carbendazim

The first slow rusting resistance gene

identified against brown rust of wheat

15

(1) Lr.-46 (2) Lr.-34

(3) Sr.-2 (4) Lr.-19
Diseases that occurs occasionally,

singly or in irregular instances is
known as

(1) Epidemic Diseases

~ (2) Sporadic Diseases

(3) Endemic Diseases

(4) Pandemic Diseases

Nematode Xiphinema belongs to order
(1) Tylenchida (2) Aphelenchida

(3) Dorylaimida (4) Triplonchida
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Which of the following is not a factor
of production ?
(1) Labour
(3) Money

(2) Land
(4) Capital

When MP is zero, than the TP will be :
(1) Maximum (2) Minimum

(3) Decreasing (4) Increasing

Principle of factor substitution is also

called :

(1) Law of diminishing returns

(2) Principle of product substitution
(3) Principle of least-cost combination

(4) Principle of comparative advantage

Farmer owning less than 2.5 acres of
dry land or 1.25 acers of wet land are
called

(1) Small farmers

(2) Marginal farmers

(3) Variable farmers

(4) Economic farmers

Law of diminishing marginal utility
initially formulated by

(2) J.S.Mill

(4) Aristotle

(1) Adam Smith
(3) H.H. Gossen
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Who :layszdown that economics is the

‘Science of Choice’ ?
(I) A.Marshall (2) L.Robbins
(3) J.N.Keynes (4) F.A. Walker

Canons of taxation in economics

theory is given by :
(1) BenhamF. |
(2) Marshall A.
(3) Adam Smith
(4) Robbins L.

NABARD came into existence in :
(1) July 1980 (2) July 1982
(3) July 1985 4) July_ 1984

What is the first step in the breakdown

of glucose to extract energy for

cellular metabolism ?
(1) Glycogenesis (2) Glycolysis
(3) Metabolism (;4)' Respiration

The site of cellular respiration is :
(1) Chloroplast  (2) Mitochondria
(3) Cytoplasm (4) Nucleus

Growth in plants is measured by which

one of the following instruments ?

(1) Potometer (2) Porometer

(3) Auxanometer (4) Osmometer
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66.

67.

68.

69.

Which one is pyrimidines base ?
(1) Thymine
(2) Cytosine
(3) Thymine and Cytosine both

(4) Guanine

Which of the following factor do not
provide to the separation of DNA
fragments during electrophoresis ?

(1) Chargaff’s rule

(2) Matrix density

(3) Ethidium bromide

(4) Size

The inheritance pattern of RAPD is

(1) Dominant (2) Recessive

(3) Codominant (4) Random

The primary or basic social institution
is :

(1) Family (2) Religion

(3) Education (4) Politics

National demonstration programme

was launched on major food crops in

the year :
(1) 1961 (2) 1971
(3) 1964 (4) 1947
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74.

Community Development Programme

was launched in India on
(1) 2™ October, 1952
(2) 1* October, 1951
(3) 5" October, 1953
(4) 2™ October, 1961

First Krishi Vigyan Kendra (KVK)

was established at :

(1) Nagpur (2) Pondicherry

(3) Ludhiana (4) New Delhi

Which teaching method is used to
show the advantage and applicability
of a newly recommended practice in
farmer’s own situation ?

(1) Farm clinic

(2) Result demonstration

(3) Method demonstration

(4) Personal letter

A systematically planned display of

specimens, model, charts, poster,

information etc. in order to create
interest among the people is
(1) Exhibition

(3) Kisan Mela

(2) Campaign
(4) Training

Growing annual crops between the

rows of trees is :
(1) Relay cropping (2) Mixed cropping
(3) Inter cropping (4) Alley cropping
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76.

77‘

78.

79.

The branch of égricu]ture concerned
with the study of grasses is :
(1) Agroforestry (2) Agrostology

(3) Agronomy (4) None of these

A branch of forestry that deals with the
measurement of volume, growth and
development of individual trees called :
(1) Forest mensuration

(2) Forest calculus

(3) Forest matrix

(4) Forest measurement

“Everything can wait, but not
agriculture” said by :

(1) M.S. Swaminathan

(2) Jawaharlal Nehru

(3) Atal Bihari Vajpayee

(4) Pranab Mukherjee

Botanical name of Sewan grass is
(1) Setaria anceps

(2) Lasiurus scindicus

3)
4)

Panicum maximum

Chloris gayana

Toxicant azadirachtin present in which
agroforestry tree ?

(1) Mahua tree

(2) Neem tree

(3) White babul tree

(4) Shisham tree
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80.

‘81.

82.

83.

Scientific name of Khejri tree is

(1) Ficus religiosa

(2) Pongamia glabra

(3) Agave sisalana

(4) Prosopis cineraria

The renewal of a forest crop by self-

sown seed or by coppice or by root

suckers are called as
(1) Natural regeneration

(2) Artificial regeneration

(3) Both natural and artificial

regeneration
(4) None of these

Integration of trees with grass is

known as

(1) Agrisilviculture
(2) Silvipasture
(3) Silvihorticulture

(4) Agrisilvihorticulture

In India DBH of tree is measured at

(1) 1.37 metre height
(2) 1.47 metre height
(3) 1.57 metre height

(4) 1.67 metre height
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86.

87.

Violet noises heard in an éngine giving
a pinging sound during the process of

combustion is called

(1) Detonation (2) Ignition

(3) Volatility (4) None of these

Coeffiecient of Variation is calculated

by the formula

Arithmetic Mean
(1) CV.= Standard Deviation ¥ 100

Standard Deviation
(@) CVv.= Arithmetic Mean =

100

Standard Deviation Arithmetic
3) CV.= X
€)) 100 Mean

Arithmetic Mean
4) CV.= Standard Deviation

Each link distance in an Engineer’s

chain is
(1) 0.66 ft. (2) 1.33ft.
(3) 0.33 ft. (4) 1.00ft.

TotestHO:u=;.10 Vs H, 1>, when

the population standard deviation is
known the appropriate test is
(1) t-test (2) z-test

(3) chi-square test (4) F-test



88. A Y I XWWWW ~1.6TWX 88. If the regression coefficient of Y on X

1Y IR GHISA O — 0.4 o, X is —1.6 and regression coefficient of X

i
i
i
T Y ¥ Hed Hedey TUTTeR BRI E! on Y is -04, then correlation
i coefficient between X and Y will be
1) 0.8 2) +038 ’[
! (1) 0.8 (2) £0.8
- 0. 4) 0.64
(3) ~08 () 96 ’g (3) -038 (4) 0.64
z
89, T 7 fapa @l o JFeS W TUA & | 89. How many years interval livestock
SO B @ 2 | census is conducted in India ?
(1) 799 @) 1099 (1) 7 years (2) 10 years
(3) 12739 4) 59 | (3) 12 years (4) 5 years

i
:
i
1

00. T shY T “peTer s e ohTE 90. Friewal cattle breed developed by

Rrrfaa H T ? z making a cross between
i (1) Sahiwal — Holstein Friesian
(1) o — e ISR i
@) AR — St i (2) Gir—Jersey
: .
. i (3) Kankrej— Red Dane
(3) i — 18 S 3
i 4) Tharparkar — Brown Swiss
(4) YTATER — 13T fea@ %
|
!

91. Wﬁaﬁﬁwaﬁnﬁ%:

91. Viral disease in poultry birds is

(1) FefERE (2) mfferatia (1) Coccidiosis  (2) Moniliasis

(3) TefafeafE (4) TEa

(3) Hexamitiasis (4) Ranikhet

animals from herd is

FCACINE

(1) whifet (2) S (1) Casting (2) Weaning

(3) e (4) et

%
|
i

92. a’s’ T DA™ AT TS e &l E 92. Removal of undesirable or unproductive

|
l
%
| (3) Culling (4) Deticking

a 18 09
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A female goat is also known as
(1) Billy (2) Capon
(3) Pullet (4) Nanny

Which one is the sheep breed of
Rajasthan ?

(1) Nellore
(3) Chokla

(2) Ganjam
(4) Poonchi

Fat percentage in milk of Tharparker

breed of cow is :
(1) 3.5
3) 2.1

(2) 4.5
4) 6.1

Hay is
(1) Conserved green fodder with
80-85% dry matter

Green fodder wilted to 40-45%

dry matter

(2)

3)
4

Artificially dried legume fodder
fodder

controlled fermentation

Green conserved by

The microbial organism used as an
indicator for selecting pasteurization

time-temperature combination is :
(1) Listeria monocytogenes

(2) Coxiella burnetti

(3) Pseudomonas tuberculosis

(4) Salmonella typhi
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104.

For choosing cropping pattern, which

type of weather forecast is useful ?

(1) Medium range

(2) Short range

(3) Longrange

(4) Short-medium range

How much Urea (kg) will be required
for 10 hectares area at the rate of
150 kg Nitrogen per hectare application ?
(1) 690 (2) 3255

(3) 325 (4) 306

Muriate of potash is also called :
(1) Potassium sulphate

(2) Potassium nitrate
(3) Potassium chloride
(4) Sulphate of potash

5 hectare-cm of irrigation water is
equal to, how much litres ?

(1) 5lakh (2) 5 thousand
(3) S million (4) 5 billion

Tea and Rubber are

(1) Horticulture crops
(2) Cash crops

(3) Fodder crops

(4) Plantation crops

in India.

Broad Bed Furrow method is ideally
suited for black soils for which crop,
among the following ?

(1) Rice (2) Soyabean

(3) Mustard (4) Berseem

A process of soil formation is also
known as

(1) Salinization  (2) Solonization

(3) Horizonation (4) Podzolization
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The interveinal chlorosis on older
leaves is deficiency symptom of

(2) Molybdenum
(4) Phosphorus

(1) Magnesium
(3) Potassium

What will be the depth of irrigation
(cm), for a crop is schedule irrigation at
Cumulative Pan Evaporation (CPE) of
8 cm and Irrigation water/CPE ratio of
0.87?

(1) 64
(3) 6.4

(2) 0.64
4 10

“Mahisugandha” variety of rice is
developed by the cross between the
varieties of rice —

(1) Baran Basmati x Pusa-150

(2) BK-79 x Basmati-370

(3) M 63-83 x Cauvery

(4) TN-I x Basmati-370

. Which post emergence herbicide is

used to control grassy weeds in
soyabean crop ?

(1) Chlorimuron-ethyl

(2) Alachlor

(3) Quizalofop-ethyl

(4) Pendimethalin

- Which agroclimatic zone of Rajasthan

the
Dungarpur and Banswara distticts ?
(1) b (2) IVa

(3) IVDb 4) Vv

covers geographical area of
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Which of the followings is a fibre and
oilseed crop ?
(1) Sunhemp
(3) Linseed

(2) Sisal
(4) Jute

The correct group of slow release N

fertilizers is

Urea Oxamide,

CDhU

(n formaldehyde,

(2) Oxamide, Diammonium Phosphate,

IBDU
(3) IBDU, Rock Phosphate, Thiourea
4)

CDU, Oxamide, Ammonium

nitrate

Which one is the class of soil blue

green algae ?

_( 1) Cyanophyta

(2) Chlorophyta
(3) Xanthophyta
(4) Bacillariophyta-

Root fungi which help in increasing
the
higher plants.

availability of phosphorus in

(1) Mycorrhizae (2) Fusarium

(3) Trichoderma (4) Aspergillus

Which soil group of India is covering
largest area ?

(1) Alluvial soils

(2) Red soils

(3) Laterite soils

(4) Saline and Alkanie soils
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Y 3 ?
(1) IIRE.-2849 (2) IR.F.-2715
(3) IINEL-2794 (4) HR.F.-2907
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- Which of the following variety of

barley is suitable for malt ?
(1) RD-2849 (2) RD-2715
(3) RD-2794 (4) RD-2907

The example of stomata closing type
anti-transpirant in leaves is :

(1) Phenyl Mercuric acetate

(2) Hexadecanol

(3) Mobileaf

(4) Kaolin

In raize crop having spacing of
60 cm x 25 cm, the count of plants in
2000 m? area will be

(1) 11333
(3) 15333

(2) 13333
(4) 66666

Striga is a parasitic weed of
(1) Mango (2) Wheat
(3) Tobacco (4) Pearl millet

Evapotranspiration can be measured
by

(1) Lysimeter studies

(2) Water balance method

(3) Empirical methods/formula

(4) All of these

The capability of soil to produce a
specified plant under a specified
system of management is known as —
(1) Soil fertility  (2) Soil productivity
(3) Soil profile  (4) Soil tilth

o
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